wp = Wd 0’1 Cl

120cm = ... dm 12
wp = Wd Gp Q'y
45 cm = ... dm 4,5

Meesterplein Meesterplein



wp = Wd 068 63

890 cm = ... dm 89
Wwp " = W GG/ G’/
/55 cm = ... dm 75,5

Meesterplein Meesterplein



wp W €4 c'q
53 cm dm 5,3
wp wo 18 '8
81 cm dm 38,1




wp " = Wwd §'Z6 GC'6

92,5cm = ... dm 9,25
Ocm = ...dm 0,9

Meesterplein Meesterplein



wp "~ = Wd 0Se9 SE9

6350 cm = ... dm 635
Wwp " = Wd 6'H¢ 6v'C
249 cm = ... dm 2,49

Meesterplein Meesterplein



ww " = wd 9y Qb
48 cm = ... mm 48
ww = wd g’ G6
9,5cm = ... mm 95




Wl WD g¢ 0S¢
35 cm mm 350
Wl - W TG 0TS
51 cm mm 510




LUl Wwd (1 0CT
12 cm mm 120
L WD 9qG 099G
56 cm mm 560

eeeeeeeeeee

eeeeeeeeeee



ww = wod /’g /9
6,7Ccm = ... mm 67
ww " = wd 6’0 6
0,9cm = ... mm 9

eeeeeeeeeeee

eeeeeeeeeee



87cm = ... mm 870
ww " =wd g/ ¥4
/,2Ccm = .. mm /2

eeeeeeeeeee

eeeeeeeeeee



150cm =... m 1,5
w " = Wd G9 Gb'9
645cm = .. m 6,45

eeeeeeeeeeee

eeeeeeeeeee



50cm =..m 0,59
Ww " = Wo OpLT PET
1340 cm = ... m 13,4

Meesterplein Meesterplein



W = WD 6/8

6,8

879cm=..m 8,79
w " = Wwd G6 G6'0
OScm =..m 0,95



/50cm = ... m /,5
Ww " = Wd GqT¢ G1'C
215cm = ... m 2,15

eeeeeeeeeee

eeeeeeeeeee



82cm=..m 0,82
W " = wd Q0S7 G
2500 cm = ... m 25

Meesterplein Meesterplein



wo " =W gy 005t
45 m = ...cm 4500
wd = W g'g 0GE
3,5m=..cm 350

eeeeeeeeeeee

eeeeeeeeeeee



wd " = W eeT 06¢CT
129 m = ..cm 1290
wo "~ =wgo 009
6Gm=...cm 600

eeeeeeeeeeee

eeeeeeeeeeee



wd " = W ZSe [4°Y4
2,52 m=..Cm 252
W w e’/ 0EL
/,3 m cm /30




58 m=..cm 5300
wd " = W G'6¢ 056¢
295m=..cm 2950

Meesterplein Meesterplein



wo """ = W g0 G8
0,85m=..cm 85
e w 40 0b
0,4 m cm 40

eeeeeeeeeeee

eeeeeeeeeeee



wo """ = wp '/ b/
/,4dm = ...cm 74
wo " = wp z’s (8
8,2dm = ...cm 32

eeeeeeeeeee

eeeeeeeeeee



wo " = Wp ¢£1 OCT

13dm = ... cm 130
wd = Wp 'S b'vE
3,44 dm = ... cm 34,4

Meesterplein Meesterplein



wo "~ = Wp 6¢ 06¢

29 dm = ... cm 290
wo " = Wwp g 0S
5dm =...cm 50

Meesterplein Meesterplein



WD " = Wwp G98°¢ G'8¢
3,85dm = ... cm 38,5
WD " = Wp 9'pT 9T
14,6 dm = ... cm 146

eeeeeeeeeee

eeeeeeeeeee



wd = Wp §§°C G'GT

2,55dm = ... cm 25,5
wd " = Wwp §'6 G6
95dm = ...cm 95

Meesterplein Meesterplein



Ww " = W) b 000<Zv
42 km=.. m 42000
W = wy 8'c 008¢
3,8km=..m 3800

eeeeeeeeeee

eeeeeeeeeee



w " =Wy 66’9 0569
6,95 km=..m 6950
w = wy q'T 00ST
1,5km=..m 1500




w = wy /0 00/
0,7km=..m 700
w = wy G0 0P S
0,54 km=..m 540



w " = uy 7’7 0G¢T
1,25km=..m 1250
w " = uwy 97T 00G¢T
12,5km = ... m 12500



W = W) 666'S 6665

5999 km = .. m 5999
w = w6’/ 006/
/,9km=..m 7900

Meesterplein Meesterplein



wX — = W 004S /'S

5700 m = ... km 5,7
w " = W Q0ge3 €80
830 m = ... km 0,83

Meesterplein Meesterplein



1600 m = ... km 1,6
wX — = W 00086 86
98000 m = ... km 98

Meesterplein Meesterplein



4950 m = ... km 4,95
w = W 000¢ 4
2000 m = ... km 2

Meesterplein Meesterplein



920 m = ... km 0,92
Wy " = W 00SE G’
3500 m = ... km 3,5

Meesterplein Meesterplein



w = W 0S89

68’9

6850 m = ... km 6,85
Wy " = W QLT LT'0
170 m = ... km 0,17



80 dm =..m 89
W " = wp g’/ G0
/,5dm=..m 0,75

eeeeeeeeeee

eeeeeeeeeee



35dm=..m 3,5
w " = Wwp 0c6 6
920dm = ... m 92

eeeeeeeeeee

eeeeeeeeeee



W " = Wp 6t 6b't
449dm=..m 4,49
W = Wwp &6 €6
O3dm=..m 9,3

eeeeeeeeeee

eeeeeeeeeee



W " = Wp G'6T G6'T
195dn=..m 1,95
W = Wwp 5¢ S'C
25dm=..m 2,5

eeeeeeeeeee

eeeeeeeeeee



5856dm = ... m 58,5
w " = Wwp 0T8 I8
810dm=..m 81

eeeeeeeeeee

eeeeeeeeeee



wp — = w/9 049

67 m=..dm 670
wp " =W ¢’y ec
2,3m = ..dm 23

Meesterplein Meesterplein



wp = w g S
0,5m=..dm 5
wp " = W Gq8’T G'8T
1,85m=..dm 18,5



wp = W ¢¢ 0c¢
32m=...dm 320
wp = W $8 018
84 m=..dm 840



wp " = W g'g ¢q
5, 3m = ...dm 53
wp " =Wt 0)7
4m=..dm 40




wp " = W g’/
759 m=..dm

eeeeeeeeeee

65/
/759

eeeeeeeeeee

wp = W 9’96
96,6 M = ... dm

eeeeeeeeeee

996
966

eeeeeeeeeee



